Calculus BC – Chapter 3 - Even Answers (F.T.D.W.)
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Section 3.7
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28. a & c
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36. (a) 
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Calculus BC – Chapter 3 - Even Answers (F.T.D.W.)

Section 3.8 (continued)

40. Express A in terms of side, s. 
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. We need the change in area, dA, to be less than 2%  (of area, A). So we need: 
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. Next we put everything in terms of ‘s’ and ‘ds’. 
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 or  1% of the length.

42. Express Volume in terms of the diameter, D. Then relate dV to dD by differentiating.
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 We want the error to be less than 3%, so we need 
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44. (a) Relate volume (V) of a cylinder to diameter (D), then differentiate to get dV vs dD. 
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. We want 
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Hence 
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 or 0.5% of the true value of the diameter.

(b) 
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. We need the percentage of volume change to be less that 5 or  
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46. See Ex 8 (p.247) and the result that the relative change in volume (dV/V) is four times the relative change in radius (dR/R). That is: 
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. So a 50% increase in volume means a 50/4 % increase in radius. 12.5%
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 . Then the ratio is: 
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50. (b) Linearization: y1 = 
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. y2 = 
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(c)  Set y1 = y2 and solve to get: 
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(d) x = 0.82836   (e) We have no method to find an exact solution.
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58. -2x sin(x2) dx
    60. dy = 2x sec(x2 – 1) tan(x2 – 1) dx      62. 
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38. (a) � EMBED Equation.DSMT4  ���


(b) � EMBED Equation.DSMT4  ���


40. (a) y = 2


(b) � EMBED Equation.DSMT4  ���


42. 


(a) � EMBED Equation.DSMT4  ���


(b) � EMBED Equation.DSMT4  ���


44. (a) � EMBED Equation.DSMT4  ���


(b) x = 0


46. � EMBED Equation.DSMT4  ���


48. (a) y = 2x – 1 


� EMBED Equation.DSMT4  ���


50. (b)  1  &  -4


52. (a) � EMBED Equation.DSMT4  ���


(b) � EMBED Equation.DSMT4  ���


54. v(6) = 2/5 m/s


a(6) = � EMBED Equation.DSMT4  ���


56. D = All Reals


58. (a) -0.06251...


(b) 1.9988...


60. For y = x1/3


D = R = Reals


For the derivative:


D: � EMBED Equation.DSMT4  ���


R = � EMBED Equation.DSMT4  ���








Section 3.8


2. � EMBED Equation.DSMT4  ���


4. y = 10x – 13 


6. � EMBED Equation.DSMT4  ���


8. y = -x +2


10. y = x + 1


12. � EMBED Equation.DSMT4  ���


14.  y = 1


16. � EMBED Equation.DSMT4  ���


18. � EMBED Equation.DSMT4  ���


20. (a) 1.22


(b) 1.003


22. y = kx + 1


24. (a) The sequence of numbers 


increases and approaches 1.


(b) The numbers approach 1.


26. (a) .02 


(b) 0


(c) .02


28. (a) .1


(b) .4


(c) .0641


30. (a) .1


(b) 1


(c) .061


32. dS = � EMBED Equation.DSMT4  ���


34. dS = � EMBED Equation.DSMT4  ���


36. dS = � EMBED Equation.DSMT4  ���


38. dD = .6366 in.


dA = 10 in2 
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